MEASUREMENT

Add amounts of money and work out change

o Jessica has £1.40. Her mum gives her 50p. How much money does she
have now?

£

e Kyle has four £1 coins and seven 5p coins. How much does he have
altogether?

£

e Siddiq buys 4 jam doughnuts for 60p each. How much change does he
get from £3?

0 Isiah buys a sandwich for £1.20 and a biscuit for 45p. How much change
does he get from £2?

School Fair Prices

Key ring — £1.60 Ball — £1.20
Game — £2 Pen set — £1.70

Sarah has £5. She buys a ball and a game. How much change does she
have?

@ Humma spends £4.50 on 3 items. What are they?
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